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. To observe stomata in a dicot leaf,we must prepare the slide by taking
a. A crushed leaf
b. An upper epidermis of a leaf
c. A lower epidermis of a leaf
d. A central vein of a leaf.
. Which of the following will not be observed in a epidermal leaf of a stomata?
a. Aperture
b. Guard cells
c. Subsidiary cells
d. Chromosome
. When student observed a stomatal epidermal peel or a leaf under the
microscope, it appeared pinkish red. The stain used was

a. lodine

b. Acetocarmine

c. Safranin

d. Colchicine.
. Rahul wanted to observe opening of stomata. At what time he should make
the observation?

a. Night

b. Evening

c. Day

d. None of these.
. Rahul was shown slides of leaves. He should distinguish monocot and dicot
leaf on the basis of

a. Shape of stomata

b. Thickness of epidermis

c. Size of cells

d. Position of stomata.
. Neetu plucked a leaf on Sunday to observe stomata. After 4 days on
Thursday she went to laboratory to observe the stomata. She

a. Will observe it very clearly

b. Will not be able to see

c. Will observe only in sunlight

d. Will observe at any time of day.
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While preparing a temporary mount of a leaf epidermal peel,the extra stain is
removed by
a. Washing with water
b. Washing with calcium chloride solution
c. Soaking with filter paper
d. Absorbing with cotton wool.
A well stained leaf peel preparation when focused under high power of the
microscope would show
a. Epidermal cells,stomata,guard cells each with one nucleus and many
chloroplasts
b. Epidermal cells,stomata,guard cells with many nuclei and one
chloroplast each
c. Stomata and guard cells without nuclei or chloroplasts
d. Stomata but no guard cells or epidermal cells.
A student prepared a temporary stained mount of leaf peel, if he has taken
the peel from a plant kept in sunlight, the stomata will be found
a) closed
b) open
c¢) sunlight does not have any effect
d) none of the above

Which of the following is used to stain leaf peel
a) methylene blue

b) safranine

c) colchicines

d) glycerine

Which one of the following is correct

a) stomata are surrounded by epidermal cells
b) stomata are surrounded by guard cells

c) there is no nucleus in the guard cells

d) nucleus is absent in the epidermal cells

To study light is necessary for photosynthesis, the portion of the leaf covered
with black paper a) turns blue black on adding iodine

b) turns pink on adding starch solution
c) does not change on adding iodine solution

d) turns blue black on adding starch solution
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Which one of the following is incorrect for the experiment light is necessary
for photosynthesis a) we must experiment on destarched plant

b) we should cover a portion of the leaf with cellophane paper

c) we should cover a portion of the leaf with black paper

d) leaf is boiled in alcohol before testing for the presence of starch
To remove chlorophyll from the leaf

a) the leaf is boiled in water

b) the leaf is boiled in alcohol

c) leaf is washed with glycerine

d) leaf is washed with water

Which one of the following are most suitable for studying respiration in plants
a) boiled seeds

b) dry seeds

C) germinating seeds

d) mashed seeds

Which is incorrect from the following

a) KOH is kept in the small tube in the flask

b)Ca(OH)2 is kept in the small tube in the flask

c) the apparatus is made airtight

d) water rises in the delivery tube

What will be the observations if cotton is plugged instead of cork in the conical

a) water level rises up in the delivery tube
b) water level falls down in the delivery tube
c) there is no change in the water level

d) any of the following can happen

Destarching of the plant is preferred before putting a black strip to test light is
essential for photosynthesis it means
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a) potted plant should be kept in dark two days before the experiment
b) plucked leaf should be kept in dark two days before the experiment
c) plucked stem should be kept in dark two days before the experiment

d) potted plant should be kept in light two days before the experiment

To test “light is necessary for photosynthesis” priyanshu kept the destarched

leaf in iodine.which observation will show the photosynthesis
a) blue black colouration in photosynthetic area

b) yellow colouration in photosynthetic area

c) red colouration in photosynthetic area

d) black colouration in photosynthetic area.

Arrange the steps in correct order to demonstrate that carbon dioxide is
produced during respiration.

i) soak gram seeds overnight and place in conical flask
ii) fit a cork and U tube on the conical flask
iii) suspend a test tube containing KOH

iv) keep the set up undisturbed.

a) i-ii-iii-iv
b) i-ii-iv-iii
c) i-ii-ii-iv
d) i-iii-iv-ii

A student sets up the apparatus for the experiment to show that carbon
dioxide is released during respiration. After 2 hours, he would observe

a) KOH turning milky.

b) water level rising in the bent tube in the beaker.

c) water level decreasing in the bent tube in the beaker.
d) water turning turbid in the beaker.

To arrange an experiment set-up to show that carbon dioxide is released
during respiration the water should be put in:

a) the conical flask

b) the small test tube and hanged in the conical flask
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c) the beaker

d) the delivery tube.

Muscle fatigue is caused due to
a) Pyruvic acid

b) Ethyl alcohol

c) Lactic acid

d) None of these.
Fermentation is a type of

a) Aerobic respiration

b) Anaerobic respiration

¢) Endergonic reaction

d) None of these.

Chemical energy is stored as
a) ADP

b) ATP

c) AMP

d) ARP.

Respiration occurs only in living cells like germinating seeds because

a) living cells need ATP
b) living cells have glucose
c) living cells have oxygen

d) all of these.

Mohan prepared lime water and used it next month to show that carbon
dioxide is produced during respiration

i) White ppt will be formed
i) White ppt will not be formed

iii) Lime water should be fresh.
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iv) Lime water should be used anytime.

a) iiis correct

b) ii and ii are correct

c) iand iv are correct

d) ii and iv are correct.

Which of the following precautions are to be taken for a successful run of the
experiment to show that carbon dioxide is given out during respiration?

A) Cork should be air tight.

B) Seeds in the flask should be totally dry.

C) A small tube with freshly prepared KOH solution should be placed in the

D) The end of the delivery tube should be above water level.

The correct answer is

a) Aand B

b) Aand C

c) ABandC

d) ABandD

In an airtight experimental set-up which was used by you in laboratory to
study respiration in germinating seeds, the seeds obtained the oxygen for
respiration from

a) air in the flask

b) water in the beaker

c) water in the germinating seeds

d) water used for soaking the seeds.

Before setting up an experiment to show that seeds release carbon dioxide
during respiration, the seeds should be

a) dried completely

b)boiled to make them soft

c) soaked in vinegar

d) kept moist till they germinate.



WORKSHEET NO: 2
MULTIPLE CHOICE QUESTIONS
SCIENCE ( CHEMISTRY )

1. 10g of hydrogen is burnt in the presence of excess oxygen. The mass of water formed is
(@) 90g  (b) 459 (c) 10g (d) 18g

2. The chemical formula of lead sulphateis
(a) Ph2SO4 (b) Pb(SO4)2 (c) PbSO4  (d) Pb2(SO4)3

3. Inthe reaction, SO2 (g) + 2H2S (g) — 2H2(g) + X(s), the reducing agent is
(a) SO2 (b) H20 (o) H2S (d)S

4. Which information is not conveyed by a balanced chemical equation?

(a) Physical states of reactants and products

(b) Symbols and formulae of al the substancesinvolved in a particular reaction.
(c) Number of atoms/molecules of the reactants and products formed.

(d) Whether a particular reaction is actually feasible or not.

5. Chemicaly rustis:
(a) Hydrated ferrous oxide (b) only ferric oxide (c) hydrated ferric oxide (d) none of
these

6. Which of the following are exothermic processes?

(i) Evaporation of water (i) Dilution of an acid (H2SO4)

(iii) Reaction of water with quick lime (iv) Sublimation of camphor (crystals)
(@) (1) & (i) (b) (iii) & (iv) (©) () & (iv) (d) (i) & (iii)

7. Both CO2 and H2 gases are

(a) heavier thanair  (b) colourless (c) acidicinnature  (d) soluble in water
8. Thefollowing reaction is on example of a ANH3(g) + 502(g) — 4NO(g) +
6H20(Q)

(i) displacement reaction  (ii) combustion reaction (iii) redox reaction (iv) neutralisation
reaction
(@) (i) & (iv) (b) (ii) & (iii) (c) (iii) & (iv) (d) (i) & (ii)

9. Which of the following gases can be used for storage of fresh sample of an oil for along
time?

(a) Carbon dioxide or oxygen (b) Nitrogen or helium (c) Helium or oxygen (d) Nitrogen or
oxygen

10. Methane on combustion gives
(a) CO2 (b) H20 (c) both CO2 & H20 (d) neither CO2 nor H20

11. The electrolytic decomposition of water gives H2 and O2 in the ratio of
(@1:2byvolume (b)2:1byvolume (c)8:1bymass (d) 1: 2 by mass



12. In the decomposition of lead (1) nitrate to give lead (I1) oxide, nitrogen dioxide and
oxygen gas, the coefficient of nitrogen dioxide (in the balanced equation) is
(@1 (b) 2 (©3 (d)4

13. Reddish-brown copper metal forms a black solid on combustion. Which of the following
statement isincorrect?

(a) Black solidis CuO (b) Thereaction is aredox reaction

(c) Thereaction is aprecipitation reaction  (d) Copper is being oxidised

14. Which of the following reaction is used in white washing walls?
(a) 2Ca+ 02 — 2Ca0O (b) CaO + H20 — Ca(OH)2
(c) Ca(OH)2 + CO2 — Cal03 + H20 (d) Ca(OH)2 — CaO + H20

15. Fatty foods become rancid due to the process of
(a) oxidation (b) corrosion
(c) reduction (d) hydrogenation

16. We store silver chloride in adark coloured bottle becauseiit is
(a) awhite solid (b) undergoes redox reaction
(c) to avoid action by sunlight (d) none of the above

17. Silver article turns black when kept in the open for afew days due to formation of
(a) H2S (b) AgS
(c) AgsO4 (d) Ag2s

18. Based an the reaction given below, what is the correct increasing order of reactivity of
metals?
(i) (s) + CuSO4 (ag) — SO4(aq) + Cu(s) (i) Fe(s) + CuSO4 (ag) — FeSO4(aq) +
Fe(s)
(iii) Cu(s) + 2Ag NO3 (ag) — Cu(NO3)2 (aqg) + 2Ag(s) (iv) (s) + Fe SO4 (aq) —
SO4(aq) + Fe ()

(@ Ag<cu<Fe (b) Fe>Cu>Ag (c) Fe<Cu<Ag (dCu<Ag<Fe
<Zn

19. When crystals of lead nitrate are heated strongly in adry test tube
(a) crystalsimmediately melt (b) abrown residueis left
(c) white fumes appear inthetube  (d) ayellow residueislife

20. Which of the following will be required to identify the gas evolved when dilute
hydrochloric acid

reacts with zinc metal ?
(a) Lime water (b) Red litmus paper (c) A burning splinter (d) pH
paper

21. Dilute hydrochloric acid is added to granulated zinc taken in atest tube. The following
observations are recorded. Point out the correct observation.

(a) The surface of metal becomes shining (b) The reaction mixture turns milky
(c) Odour of apungent smelling gasis recorded (d) A colourless and odourlessgasiis
evolved



22. When carbon dioxide is passed through lime water,
(a) calcium hydroxide is formed (b) white precipitate of CaO isformed
(c) white milkinessis noticed (d) colour of lime water disappears.

23. In which of the following chemical equations, the abbreviation represent the correct
states of the reactants and products involved at reaction temperature?

(@) 2H2(g) + 02(g) — 2H20(l) (b) 2H2(g) + O2(1)  — 2H20(I)

(c) 2H2(g) + O2(g) — 2H20(g) (d)2H2(I) + 02(1)  — 2H20(g)

24. Identify the following type of reaction

2KCIO3 Heat —Catalyst 2KClI (s) + 302(g)
(a) It isacombination reaction
(b) It is adecomposition reaction and is accompanied by release of heat
(c) It isaphotochemical decomposition reaction and exothermic in nature
(d) It is adecomposition reaction and is endothermic in nature

25. What is true about the following equation?
3Fe(s) +4H20(g9) — Fe304(s) + 4H2(g)

(i) Iron metal is being oxidized (ii) Water is being reduced
(iii) Water is acting as reducing agent (iv) Water is acting as oxidising agent.
(@) (1), (ii) and (iii) ~ (b) (ii) & (iv) (o) (i), (i) and (iv) (d) (i) and (iv)

26. When a magnesium ribbon isburnt in air, the ash formed is:
(a) black (b) white (c) yellow (d) pink

27. In which of the following, heat energy will be evolved?
(a) Electrolysis of water (b) Dissolution of NH4CI in water
(c) Burning of L. P. G. (d) Decomposition of AgBr in the presence of sunlight

28. Rancidity can be prevented by
(a) adding antioxidants (b) storing food away from light
(c) keeping food in refrigerator (d) al of above

29. Which of the following is not an example of single displacement reaction?
(@ CuO+H2 — H20+Cu (b) Zn + CuSO4 — ZnSO4 + Cu
(c) ANH3 + 502 — 4NO + 6H20  (d) Zn + 2HCI — H2 + ZnCI2

30. The reaction of H2 gas with oxygen gas to form water is an example of
(a) combination reaction (b) redox reaction  (c) exothermic reaction (d) all
these reactions

31. Inthereaction  CuO + H2 ——— Cu + H20, the correct statement is
(a) CuO isan oxidising agent (b) H2 is getting oxidized
(c) Thereaction is adisplacement reaction (d) All correct.

32. The reaction in which two compound exchange their ions to form two new compounds is
caled

(a) displacement reaction (b) combination Reaction

(c) double displacement reaction (d) redox Reaction



33. Onimmersing an iron nail in CuSO4 solution for few minutes, you will observe

(a) no reaction takes place (b) the colour of solution fades away
(c) the surface of iron nails acquire a black coating (d) the colour of solution changesto
green.

34. An element X on exposure to moist air turns black and anew compound Y isformed. The
substance X and Y are

(@ X =Fe, Y =Fe203 (b) X=AgY =Ag2S
(c) X2CuY =CuO (d) X2 AeY =Al203
Answers

1. (d) 2. (€) 3. (c) 4. (a) 5. () 6. (d)7. (b) 8. (b) 9. (b) 10. () 11. (b) 12. (d)13. () 14. (d) 15.
(@) 16. (¢) 17. (d) 18. (©)19. (b) 20. (c) 21. (d) 22. (c) 23. (a) 24. (d)25. (c) 26. (b) 27. () 28.
(d) 29. () 30. (a)

31. (d) 32. (c) 33. (b) 34. (b)



Delhi Public School, Srinagar
WORKSHEET-02 Class: X
Writing Skills
NOTICE

* Anotice is a piece of information regarding an important event that is about to happen or that
has happened. It is publicly displayed---a kind of information for others to know and follow.

Listed below are few points that should be kept in mind while writing a notice
1. Put the notice in a box

2. Name of the issuing authority/organization

3. Date

4. Subject of the notice

» The message with essential details

Date ,time ,venue

Extra information

Signature of person issuing the notice
Name of person issuing the notice
Designation of the person issuing the notice

YV VYV VYV

SAMPLE NOTICE

Q. You are Mansi/ Manav Gupta, head girl/boy of St.Marrys school. Your school is organizing
remedial classes for students of classes V to XIl, “revise” after school hours from first August.
All students who have secured less than 60%marks in the first terminal examination in any
subject must attend the classes. Classes will be held from 2:30 pm to 4:30 pm. Lunch will also
be provided to the students on request. Write a notice for the school notice board informing the
students about the “Revise”. Do not exceed 50 words. Put the notice in a box.



St. Mary’s school
June 30,2016 'NOTICE
REVISE-Remedial Classes for weak students
Compulsory remedial classes “Revise” for those students of classes V to XIl who
have secured less than 60% marks in the first terminal examination will be organized

from first August 2016, after school hours from 2:30 to 4:30 pm. Lunch will be
provided on request. For further details contact the undersigned:

Mansi Gupta
Head Girl

MESSAGE

A message is a short, informal piece of writing conveying the information to a person for whom the
information was intended but who was not at hand to receive the information.

1. Give the heading as ‘MESSAGE’

2. The heading should be followed by date and time.

3. Keep the salutation and signature short.

4. The message should be crisp, concise and provide all the relevant information.

5. Don't write any additional information that is not given in the conversation.

6. The concluding part of the message should have the name of the person who is writing the message.
SAMPLE

The following is a telephonic conversation between Mrs. Leena and Shriya. Identify the name of
the person to whom the message needs to be written. Word limit 80 words

MRS LEENA:Hello, may | speak to Shalini?

SHRIYA: Sorry, she is not at home at the moment .| am her daughter, Shriya speaking. Can | take the
message please?

MRS LEENA: Sure! We got a circular at school today saying that there is a staff meeting at 8 AM
tomorrow and all the teachers are expected to be presently in the staff room on time so that we finish
the meeting before the school assembly. Since she had not come to school, | thought | would call her
up and inform her.

SHRIYA: Sure, | would inform her without fail.
MRS LEENA: Thank you, Shriya. Bye.



MESSAGE
June 30,2016 07:30 PM
Mom,
Your colleague, Mrs .Leena called up to inform that you need to be present at the staff room
sharp at 8AM tomorrow for a meeting that is scheduled to be completed before the school

assembly.

Shriya

EXERCISES

Q1.Your school has decided to introduce Mass Media Studies as a subject under the vocational
stream. This is going to help students who want to pursue a career in films, its production and
other attached fields, Write a notice for your school notice board informing all students who are
studying in class X, regarding the course.

Q2. Mr. Rajan, the English tuition teacher of Paul, has a message for him. Paul’s brother, David,
attends the call but is in a hurry to leave to the railway station to pick up his uncle. He leaves a
note for his brother. Based on the conversation below, write the message that David has to
convey to his brother.

Mr. Rajan: Hello, | am Paul’s Tuition teacher speaking. | need to convey an urgent message to him.
Can | speak to Paul, please?

David: Sir, he is not at home at the moment .He may be back after an hour. [ am his brother, David.
Could you please let me know what the message is?

Mr. Rajan: | need to leave to Chennai this Saturday morning. I have re-scheduled the session to
tomorrow morning 7 am. Please ask him to be prepared for a revision test and also ask him to carry his
literature reader book to the class without fail.

David: Sure sir. | will pass on this message to him.

Mr .Rajan: Thank you David, Bye.

STORY WRITING
The important aspects while writing a story are:

> Title



A\

Plot-====--- It has six essential parts (Exposition ,conflict, rising action, climax, falling
action, resolution)

Theme

Characters

Mood and setting

Point of view(the angle from which a story is told)

Language

YVVVVYV

Q.l peeked at my watch it was exactly 12 midnight .| had missed the last bus home and hence |
had walked for almost an hour. Thank God! Home was just a few kilometers away.
Suddenly

Complete the story in 150-200words.Give a suitable title to your story.

GRAMMAR

DETERMINERS
Determiners are words that precede and modify nouns. Determiners include:
1. Articles- A, An, The
2. Quantifiers- many, a few, a little, plenty, some etc
3. Demonstratives- this , that, those, these etc
4. Possessives- my, mine, her, his etc
Exercise

Fill in the blanks using suitable determiners.

1. They say knowledge is a bad thing.

2. people know as much about computers as Subash does.

3. It seems to me that we have had______ assignments in English this term.

4. of the anger you experience can be attributed to being overworked.

5. dog has been with man for thousands of years.
6. Here are few good manners for those who use telephone.

7. When | was going for a walk, | heard one shriek.

8. National parks play important part in economic life of the people.




TENSES

Complete the following paragraph by filling the blanks with a verb in the
appropriate tense.

Notebook Drive, that(1) as a local charitable initiative of the IISC a couple of years
back,(2) its wings across the country through the programme, students provide notebooks,
stationery, etc to poor students and (3) drop outs in primary schools. Two IISC students
who (4) in Pune and Haryana, have(5) this idea in their places of work. One of
them said that it (6) the desire to help the needy that (7) him start the drive
in his place of work. He added that when he went to Pune, he (8) that something was
missing. Problem he (9) there was finding like -mind it people. He said that he had found
three people and together they (10) Notebook Drive.

Complete the following passage using the correct forms of the verbs given in the brackets:

When | reach home, my dog (a) (sit) at the door, waiting for me. | (b) (carry)
something for him to eat. My poor dog, | am (c) (give) him a nice treat. He

(d) (remember) for days to come .Well, my bus (e) (be)about to arrive in another
ten minutes .lt (f) (take) me only five minutes to pick up some meat from the store.

LITERATURE

1. Prolonged illness of our dear ones at times makes us emotionally weak, but in the
chapter, “The Two Gentlemen of Verona” the two boys act totally opposite to this.
Elaborate.

2. Though Nicola and Jacopo are two young boys the narrator addresses them as two
gentlemen. What special qualities make them fit to be called gentlemen?

3. Appearances are deceptive. Explain with reference to the chapter “Two Gentlemen of
Verona”

4. What did the narrator do which changed the color of Nicola’s face?

5. Why did the cautious driver show his disapproval of the two small boys selling
strawberries?

6. “Inthe world of art, it’s not enough to have just talent; you also need to know how to
exploit it successfully”. Comment on this statement with reference to the poem “The
frog & the nightingale”

7. What does the poet want to convey through the characterization of the frog and the
nightingale?

8. Describe how the frog eliminates the nightingale without being blamed for it. What is the
poet’s intention through it?

9. Should one blindly follow others? why? Why not?

10. Explain ‘Satire’. The poem is a satire on critics. Who is a critic?
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DELHI PUBLIC SCHOOL, SRINAGAR

Class: X Work Sheet-2

Social Science

Q1. "Bombay films have contributed in a big way to produce an image of the city as a
blend of dreams and reality of slums and star bungalows.” Explain.

Q2. City development everywhere occurred at the expenses of ecology and environment.

Explain.

Q3. "Alarge city population was thus a threat and opportunity" explain.

Q4. "Bombay was prime city of India" justify by giving examples.

Q5. The London underground railway eventually became a huge success." Explain

Q6. Explain the role of union list, state list, concurrent list and residuary list in context of

India.

Q7. Apply the seven basic features of federalism with respect to Indian constitution.

Q8. What makes Indian federation a success? Give any four reasons.

Q9. Critically examine the concept of decentralization in India.

Q10. List out the attempts of Indian constitution in order to decentralize the power of

government.

Q11. How have human activities affected the depletion of flora and fauna? Explain.

Q12. Why is bio-diversity important for human life? Analyze.

Q13. Evaluate the famous movements which have been launched for protection of forests
and wildlife in India.

Q14. Why it becomes important to involve local community in any conservation
programme.llustrate with the help of example?

Q15. How have large scale development projects and mining contributed significantly to
the loss of forest and wildlife?

Q16. Why is sustainable development essential for economic growth? Give two reasons.



Q17. Identify the different thrust areas of human development. Which one of them plays

the most significant role in the development?

Q18. Do the two terms -'Economic growth and Economic development’ mean the same

thing? Discuss.

Q19. In what respect is the criterion used by the UNDP for measuring development

different from the one used by the World Bank? Explain.

Q20. Who publishes Human development report? What are the various indicators used for

comparing different countries?
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Experiment No. \5j

To determine the equil;nzlent resistance of two resistors when connected in parallel.

>  Multiple Choice Questions
Choose the correct answer =

1. The following apparatus is available in the laboratory

Battery : adjustable from 0 to 6 V

Resistors :4Qand 12 Q .

Ammeters : A of Range 0 to 5 A; Least Count 0.25 A
A, of Range 0 to 3 A; Least Count 0.1 A

Voltmeters : V, of Range 0 to 10 V; Least Count 0.5 V

V, of Range 0 to 5 V; Least Count 0.1 V
For the experiment to find the equivalent resistance of the
parallel combination of the two given resistors, the best
choice would be : [Al 2010]
(a) ammeter A, and voltmeter v,
(b) ammeter A, and voltmeter v,
(¢) ammeter A, and voltmeter V,
(d) ammeter A, and voltmeter V,

2. The values of resistances marked on the two, coils R, and

R, are found to be correct. A student connects the given’

resistors in the following manner :

He then connects the terminals marked X and Y above to
the terminals marked X and Y in the circuit given below :

——w | | F—WWwv—

The average value of the ratio V/I in the observations
recorded in the above circuit would be: [A 20101
(a) more than 6 Q (b) equalto 9 Q

(¢) between3Qand6Q (d) lessthan 3 Q

(@m0

w

20

+ . v * % 3V
L—{|]1||‘—(}~ 1] F—¢

A B

. A student has correctly set-up the circuit for finding the

. For the circuits A and B shown below, the voltmeter readings

(1 Mark)

equivalent resistance of two resistors in parallel. Each
terminal of each of the two resistors, in this circuit, would
be connected to [Foreign 2010]
(a) only one more component in the circuit

(b) at Jeast two more components in the circuit

(c) atleast three more components in the circuit

(d) at least four more components in the circuit

would be [CBSE Sample Paper 2009]

T
/ 3Q \

. Different students set-up their (corrected and checked)

(a) 0.6 V in circuit A and 2.5 V in circuit B
(b) 0V in both circuits

(¢) 5V inboth circuits

(d) 0 Vincircuit A and 3 V in circuit B.

circuits for finding the equivalent resistance of two resistors, -

R, and R, connected in parallel. If the two terminals of the

first resistor are labelled as (a, b) and that of the second

resistor as (c, d), it would be observed that in different &
circuits, [Delhi 2009C]

(a) ‘a’ is always connected to either (c) or (d) and to one
terminal of the voltmeter only.

(b) ‘b’ is always connected to either (c) or (d) and to one
terminal of the voltmeter as well as one terminal of the -
ammeter or the key or the battery.

(¢) ‘a’ is always connected to either (c) or (d) and ‘b’ to
(d) or (c) but neither the voltmeter nor the ammeter get
connected to any of these four terminals.

(d) ‘a’ is always connected to either (c) or (d) and ‘b’ to
(d) or (c) but it is only one terminal of the voltmeter
that gets connected to any of these four terminals.
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6. For three circuits, shown here

+L_“M]:__(.

the same two resistors R, and R, have been connected in
parallel in all the circuits but the voltmeter and the ammeter
have been connected in three different positions, The relation
between the three voltmeter and ammeter readings would
be : [Delhi 2009]
@ V,=V,=V,and] ==,
&) v, =V,2V, and I, =1, =L
(e) v, =V2 = V3 and I ==12¢l_{
(d) VI¢V2¢V3 andl =L #1

7. Two students set up their circuits for fin
resistance of two resistors connected
different ways as shown,

+

ding the equivalent
in parallel in two
[AT 2009)

e

n
The circuit(s) likely to be labelled as correct:
(@) are neither of the two circuits
() is only circuit T
(¢) is only circuit IT
(d) are both the circuits

o0

. Following circuits were drawn by four students, to determine
the equivalent resistance of two Tesistors when connected
in parallel. The correct circuit is drawn by the student,

[CBSE)
. C}g—q H—e) @T;W_\—L
R, =
5 B o R i [ e, |
@ (n

2

(@) 1 (b I

(e) m (@) 1V
. In the experiment on finding the equivalent resistance of

two resistors, connected in parallel, two students connected
the ammeter in two different Ways as shown in given circuits
I'and II. The ammeter hag been correctly connected in

[CBSE]

(@) circuit (T) only.

(b) circuit (IT) only.

(c) both the circuits (I) and (II).
(d) neither of the two circuits,

10. A student did the experiment to find the equivalent
Tesistance, of two given Tesistors, R, and R, first when they
are connected in series and next when they are connected
in paralle], The two values of the equivalent Tesistance

obtained by him were Ry and R, respectively. He would
find that [CBSE]

(@) Rg>R,
(b) Ry>R,

R, +R,
(&) Ry= Rp= 5

R, +R,
(d) RS=RF but not equal to T

11. Intheir experiment, on finding the equivalent resistance, of
two resistors, connected in paralle], three students connected
the voltmeter in thejr circuits, in the three ways X, Y, Z

shown here. [Delhi, A7 2008C)
!)—-l* i) g—ﬂ )
g +

R,

Ro
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The voltmeter has been incorrectly connected in

(a) case X only
(c) case Z only

(b) case Y only
(d) All the three cases

12. In the experiment on finding the equivalent resistance of
two resistors, connected in parallel, three students connected
the voltmeter in their circuits, in the three ways, X, Y and Z
shown here. [Delhi 2008]

HHHF—— HHHF——
£, 1t
[Cad o]

+ )= Re
) ™
HHH F——
bk
L[

R,
[¢2]

The voltmeter has been correctly connected in
(a) cases X and Y only (b) cases Y and Z only
(c) cases Z and X only (d) all the three cases
13. Students A and B connect the two resistors R, and R, given
to them in the manners shown below : [Delhi 2008]

(A) (B)
and then insert them at X and Y into the measuring circuit
shown below :

L ;

| HH F——lin—

‘We can then say that

(a) both the students will determine the equivalent
resistance of the series combination of R, and R,,.

(b) both the students will determine the equivalent
resistance of the parallel combination of R, and R,.

(c) student A will determine the equivalent resistance of
the series combination while student B will determine
the equivalent resistance of the parallel combination
of R, and R,.

(d) student A will determine the equivalent resistance of
the parallel combination while student B will determine
the equivalent resistance of the series combination of
R, and R,.

14. The only correct statement for the two circuits (X) and (Y)
shown below is :

[AI 2008]

fl|F—— 1] —
) )
(@) The resistors R; and R, have been connected in series
in both the circuits.
(b) Theresistors R, and R, have been connected in parallel
in both the circuits.
(c) In the circuit (X) the resistors have been connected
in parallel whereas these are connected in series in
circuit (Y). P
(d) In the circuit (X) the resistors R, and R, are connected
in series while these are connected in parallel in
circuit (Y).
15. The only correct statement for the following electric cir
is: (AT 2008)

(a) The Voltmeter has been correctly connected
circuit. "

(b) The Ammeter has been correctly connecte
circuit.

(c) TheResistors R, and R, have been correctly conne!
in series.

(d) The Resistors R and R, have been correctly co;
in parallel.

16. Two students (A) and (B) connect their two given resisios

R, and R, in the manners shown below :

(A)
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Al 2008

(B)

Student (A) connects the terminal marked (b,) and (c,) while
student (B) connects the terminals marked (d,) and (c,) in their
respective circuits at the points marked X and Y.

+l—*4HHF——w~v=

Which one of the following is correct in relation to above

arrangements 7

(a) Both the students will determine the equivalent
resistance of the series combination of the two resistors.

(b) Both the students will determine the equivalent

resistance of the parallel combination of the two

resistors.

Student (A) will determine the equivalent resistance of

the series combination while student (B) will determine

the equivalent resistance of the parallel combination
of the two resistors.

(d) Student (A) will determine the equivalent resistance of
the parallel combination while student (B) will
determine the equivalent resistance of the series
combination of the two resistors.

(c

<

17. For the experiment “to find the equivalent resistance of the

two given resistors connected in parallel” the following
circuit was drawn by a student. [Foreign 2008)

The teacher pointed out the possibility of the following faults :
A. The ammeter was not correctly connected in the circuit.
B. The voltmeter was not correctly connected in the circuit.
C. The resistors R, and R, were not correctly connected

in parallel.
D. The rheostat and the key were not correctly connected
in the circuit.
The two faults pointed out correctly by the teacher, are
(@) Aand B (b) Band C
(¢) CandD (d) Dand A

18.

19.

A student does the experiment on studying the dependence
of current (I) flowing on the applied potential difference
(V) by connecting the points X and Y of his circuit to the
terminals marked [Foreign 2008]
A (a, d) Bz (b ¢y)

C: (@ e) D: (b, d)

for the two resistors combinations shown below :

(A)

© {D)
The average values of the ratio V/I would then be equal to
each other for each of the pairs
(a) (A, C)and (B, D) (&) (A,D)and (B, C)
(¢) (A, B)and (C,D) (d) (A,B)and (A, C)
Two students A and B set up their circuits as shown below

using identical values for the two resistors and all other
devices.

(B)

The observed readings of the ammeter and the voltmeter,

by the two students are labelled as (i,, V,) and (i, Vo)

respectively. The readings are likely to be related as
[Delhi 2007C)

(@) Gp=ig)i (Vy=Vp)

(B) Gp>ig) (V,=Vg)

© (y=igh (V,>Vy)

(@) (u<ig) (Vi>Vp)




20. The given diagram shows the milliammeter reading
connected in a circuit : [AI 2007C)

The value of current flowing in the circuit is

(a) 100.3 mA (b) 103 mA

(¢) 130 mA (d) 160 mA

A student uses a battery of adjustable voltage 0 — 6 V. She

has to perform an experiment to determine the equivalent

resistance of two resistors when connected in parallel using

two resistors of value 3 ohm and 6 ohm. The best choice of

combination of voltmeter and ammeter to be used in the

experiment is [AI 2007C)

(a) Ammeter of range 0 — 5 A and voltmeter of range
0-10V

(b) Ammeter of range 0—5 A and voltmeter of range 0-5V

(¢) Ammeter of range 0 - 2 A and voltmeter of range
0-10V

(d) Ammeter of range 05 A and voltmeter of range0-2V

21.

22. For the two circuits I and IT shown below, the voltmeter

readings would be [AI 2007C]

(@) 0V incircuit Iand 2 V in circuit IT

‘(b) 3V inboth the circuits

(c) 0VincircuitIand 3 V in circuit IT

(@) 3 VincircuitIand 0 V in circuit IT

For carrying out the experiment, on finding the equivalent
resistance of two resistors, connected in parallel, a student
sets up his circuit as shown. The teacher checks it and tells
him that his circuit has one or more of the following “faults’ :

23.

[Delhi 2007]

_

i R

:
T

A. The resistors R, and R, have not been correctly
connected in parallel.

B. The voltmeter has not been correctly connected in the
circuit.

C. The ammeter and the key have not been correctly
connected in the circuit.

Out of these three, the actual fault in his circuit is/are :

(a) Both A and B (b) Both B and C

(¢) Only A (d) OnlyB

24. Which of the circuit components in the following circuit
diagram are connected in parallel ? [AI 2007)

@)

\__4 e
(@) R, andR, only (6) R,and V only
(¢) R andV only @ R,, R and vV

Using the given circuit with ammeter and voltmeter answer
the questions (25 to 27) :

2Q

®
@

40

®
®)

®

8V

25. The current indicated by A, is :

(a) 6A (b) 4A

(c) 2A @ 1A
26. The current through A, is :

(a) 6A (b) 4A

(e) 3A @ 1A
27. The ammeters showing same reading are :

(@) ALA, ®) AyLA,

© ApA, @ Az A,




